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ooooo0o 33 gooooo

> help(sqrt)

OO00000O0 RSwdioOODOOODOOOOODO sqrt000OO0O0OODOOOO
gogbodboooobuooboobobooo

Description O0OQOOO0O0O

Usage 0O0OO00O0OO0O0ODOOOOOOOOOODOO

Arguments OO0OOO0O

Vaue 0000000000000 O00OO0OO0O00O0OOO00O0DO0O0O0OOO0OOOOOOODOOOOOOOOO
Details OOOOOO

References 000000000000 OOOO

Examples OO O0O

000000000000 0D00D0 Details 000 0O0O0OO0DOODODOOOOOOOODOODODOOODODO
0000000000000 00D0O0O00000Usage0000000="XXXX",0OOOOooooooooooo
OXXXX0O0Oooooooooooooooooooooooooooooooooooooooobooooooodg
goobgoobooobobooboooboobooboboobbobobooboooboobbooboobbOoDo

o0oOdbOROODOOOCODOOOODOOOOOOCOROOODOOOODOOOODOOOODOOOOOOO
0000000000 0000000000000000000000000D00D00000000 package 00O
god

000000 34 ooOoOooOooooooooo

> help(package="psych")

cooooooobooooooooOooOoOoOoOoOboO0oO0obOOoOoOoOoOoOoOoOoOCcOob0OOOoOoOobObOOoOobooOoOoOoOooDOoO
ooooooo

353 O0O0OO0OOODOOO

rROOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO0OO0O0O

0000000000000 00dataQDO0OCO0OROOODOOCOOOOOOOOOOOOODOOOOOOOOO
0000000000000 00000000000000000000000D0O000DB0O0000000A0 data
cobooooobooooobooboooocooobOOoboooooboOoobOOobOOobOoOoboOooOoOobOoboooobDOoboboOoonoo
oooooooooooooooooobooooboobooooooooooOoobboooobooooooDoOg

00000035 iis0000000000000 summary 0000

> data(iris)
> summary(iris)
Sepal.Length Sepal.Width Petal.Length Petal.Width Species
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Min. 14.300 Min. :2.000 Min. 1.000 Min. :0.100 setosa 150
1st Qu.:5.100 1st Qu.:2.800 1st Qu.:1.600 1st Qu.:0.300 versicolor:50
Median :5.800 Median :3.000 Median :4.350 Median :1.300 virginica :50
Mean :5.843 Mean :3.057 Mean :3.758 Mean :1.199
3rd Qu.:6.400 3rd Qu.:3.300 3rd Qu.:5.100 3rd Qu.:1.800
Max. :7.900 Max. :4.400 Max. :6.900 Max. :2.500

3.6 ROOOOOO
36.1 ROODO

ROOOOOOODOOOOOOOODOOOOOOOOOOOOOOOOOOODOOCOOOOOODOOOOOO
gooooooooOooOoOoOoOObOOO0OOOOOOOOOROOOOOOOOOOOOOOOODOOODOOODOOO
ocooooooooooooooooboooobboooooooooooooboooooooobboooooooooDoDOo
OO00<-0000000O0O0O0cO0O0OO0O0OobOboOoon

ooo0o000 3.6 oooOoOoO0oOo

> test <- 2+5
>

OO00024+50000 test0000D0O0O00DOO0O00ODOO0OODOOO0ODOOOODODDODOODOOOODOOOODODOO
gooboobodoobooboobooooboobooobob bbb booboobboobOoo
obooooooooobooobooboboooobooooboobDobobobobobboooooooboOoDbo

ooo0o0o00 37 ooooooo

> test
[1] 7

coboooooooobooboobooobooooobOobobooooooooooOoobOoOoboOooooOoOoboDOobOooOoooonDa
coboboodoobooooooooooboooobooooooooooooooocoooooooboooooooooonoag
coooooobobooboboooooooooooooooa

00000038 ODOooOoOoOoOooooooo

> test * 3
[1] 21

> test <- 5-2
> test

[1] 3

3.6.2 OO0OO
ooooRrROOOOOOOOOOOOO0OO0OO0O0O0O0O0O0O0OROOOO0SOO0O0000000000000O0

OO numericD000000000O00OOOdouble0D integer 1000000000000 0OO0OO
OO integer, 00 O0O

000 complex, 000000 +00 10000

000 character, 00O

OO0 logica,0OOO TRUEO FALSEOOOOOODOOOODOO TRUE=LLFALSE=00O0O0OOO

000 NULLOOOOOOO0O00O0O0000 600000000000000000000ODOOO00O0OOODOOOO
cooooooobooooooooooboooooboboooooooooooooboboooooooboboooooooooDooag
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0000000000000 0000000000000000TRUE/FALSECD D OOOOO0OODOOO0OOOOOO
ooo T/FOOOOOOOOOODOOO

3.6.3 00O0OO

ROOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOCOOOOOOOOOOOODOOO0O
OOROOOOOOOOOO0OO0OO0O0OO0O0O0OO0OOOOODOOODODOOOOOODOODODOODODOOD 1+200000000
coobooooboooooooobooboooooboboooooooooooooocooooooobooOoooooOooonoag
coooooo

000 1,2345000000000000000000000000DO0C0O000O0DOODOO0O0OO0OODOOOOO0OO
oooon

ooo0o00 39 ooooooo

> test <- ¢(1,2,3,4,5)
> test+3
[1] 4 56 7 8

O000cOOODOO00ODDOO000OD0O0Ocombinedl 000000000000 DOOOOODOOOODOOOOODODOO
goooooogoogo

oooooo 310 oooooooo

> 2:8
[1] 23456738

0000000000000 000000000000000000000 matrix0 000000

000000 3.11 matrix O

> test <- matrix(c(l:8),nrow=2)
> test
[,11 [,21 [,31 [,4]
[1,] 1 3 5 7
[2,] 2 4 6 8

matrix 000 100 80000000020 (mow=200000 40000000000000 matrix0OOOOOO
gboooooooooboooboboboobooooog [J1bobobobobobobobooboog

ooo0o00o 312 oO0goo

> test[1,2]
[1] 3

> test[1,]
[1] 1 3 57
> test[,2]
[1] 3 4

cooooooobooooooooooboooooboboooooooooooooboboooooooboboooooooooDooag
ooooooooooooooooOooooooooOoOoIb,oooooooooooooOooOobobooOooooooon
o000 stO0o0oooooo

oooo0o0 313 listd

> test <- list(id=c(1,2,3,4),sex=c("male","female"),
height=c(155,163,172) ,weight=c(70.6,80.9,50.3,40.7))
> test$id

[1] 1 2 3 4

> test$weight

[1] 70.6,80.9,50.3,40.7
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O0O0O0Otest0000000ODOOOOId,sexheight,weight 0000000000000 00O00OO character 1000
Onumeric000000000 list0000000000000O0O0O0O00O0O0O0O0OO0OO0OODOODOOOOO $OO
gboooooooooogo

gooooooobooooooboooobooobobobooobobooboobobooboobobDobbooDbo
goobooboobboobooboooboobooobooboobboobLxobbooboobbooboo
OCOROCOCOOOOO dataframe 000000000

0ooodod 3.14 dataframe O

> test <- data.frame(list(name=c("kosugi","tanaka","suzuki"),
sex=c(1,2,1),height=c(170,160,170) ,weight=c(70.6,80.9,90.6)))
> test

name sex height weight
1 kosugi 1 170 70.6
2 tanaka 2 160 80.9
3 suzuki 1 170 90.6

dataframe 00 list 00 000000000000 O0DOCOOCOO0OO00O0O0Odataframe 00000000000
000$0000000000000000000000

ooooooooooo 1L20o0o0b00000o0oo0ooooooboco0o0ooooooooooOoooob0O0o00 1000
020000000000C0C000000O0O0O0OCOCOOO00OO0OOOOOOOOOOOODOOOOOOOO0OOOO
0000000000000 000000000000000000000ROO0O0O0 factorJO000O0O0ODOOO
OoOOCOCOfactorOO00OO0OOOCOCOCOOOOCOOOOOOODOOODOOO

oooooooboooobobooboooodbooobooooooooodsctd0oooobooooooooogd
gooooOoooOoOooooooooooooooooooooODOoOO0O0000 nameO factor000O000O0ODOO
OO 0O height,weight OO0 OO0O0C000 numeric0 00000000000 O0O0O0O0O00OO

ooooog 3.15 factordO OO0 strO00d

> test$sex <- factor(test$sex, labels = c("male", "female"))
test
name sex height weight
kosugi male 170 70.6
tanaka female 160 80.9
suzuki male 170 90.6
str(test)
’data.frame’: 3 obs. of 4 variables:
$ name : Factor w/ 3 levels "kosugi","suzuki",..: 1 3 2
$ sex : Factor w/ 2 levels "male","female": 1 2 1
$ height : num 170 160 170
$ weight: num 70.6 80.9 90.6

Vv

V W N R

3.7 RODOOOO

3.71 00O0OO0OO0OOOODOOOOO

gobooobobooboobbooboobobooboobbooboobbooboobbooboobboon
ocoooorROOOOOODOOOODOOOODOOOOOOOOOOOODOOODOOOODOOODOOOOODDOO
gboboooooogoogog

gogooooooboboboobobboboooooboboobbboooodoooooobLDbDbobbbboboooooOooL o
obob0od0b0.esvOOobooooooooooobooboboboboooo

000000316 0D0OO0O0DOOOOOO

> sample <- read.csv(file.choose(),head=TRUE,na.strings="%*")
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OO0 read.esv0 0 0000000000000 0D0O0O000000000O0O0000C0O00DO0O00DO0O0O0O0 esvOO
Oooooooo0ooooooooooooOOoOO0OC0cOoO0ObOO0000oooooooo0n0Oreadesyv0000O0O0OO
00 filechoose 0000000000000 000000O00000O0000O heed=TRUECOOOOOOOOO
gooooooooooooooooooOobooooooooooooooooDooO woooooooooooooo
oobobOoboobooooO0 TRUEDOO,0D0000o00oo0o0oooobooooooobooooooooooooDg
cooooooobooooobooooOooOoOoOooOboO0OobOOoO0oOoOoOoOoOoOoOCcOb0OOOoO0oO0obObOOoOobOOOoOoOooDOonOO
O0se()ODO0O summary) OOODOOODOOOOOOOOOCOOOOCOODOOOOOOOOOOOOOOOOO0O0O0O
O0000oo0000oo0O000oooO0000oo000RSwdioD 00000000 O0OOOOOOODOO
coobooooobooooooooooOooOoooboboOoOoobooOooooooooOoboOoOoooooboboOooooOoOoooooa
oooooooooooooooooobooobboooooooo

3.72 0O0OO0ODOO

oooon
gogbooooboobooboboobooobooboobDbooboobbooboobbooboobDbooon

OO0DOO000O00OOO00OOO0bOOo0oO00OoOoDOoUOoDOOo BMIOOODOOOOOOODOODOtestbOOoOO

O0000BMIOOOOOODOOO0OO0O0OO0ODOO0OO0$S00000000000000000O00000O0O0O0O0OO

000000317 0000000000

> test <- data.frame(list(name=c("kosugi","tanaka","suzuki"),
+ sex=c(1,2,1),height=c(170,160,170) ,weight=c(70.6,80.9,90.6)))
> test
name sex height weight
1 kosugi 1 170 70.6
2 tanaka 2 160 80.9
3 suzuki 1 170 90.6
> test$BMI <- test$weight/(test$height/100) "2
> test
name sex height weight BMI
1 kosugi 1 170 70.6 24.42907
2 tanaka 2 160 80.9 31.60156
3 suzuki 1 170 90.6 31.34948

OO000000DOOoO00oOoOoOoONULLOOOOOOOOooOooooogo

000000318 00000

> test$sex <- NULL
> test

name height weight BMI
1 kosugi 170 70.6 24.42907
2 tanaka 160 80.9 31.60156
3 suzuki 170 90.6 31.34948

subset() 000 OOOOOODOOO

0000000000000000000000000000000000000000000000000000
000000000000000000000000000000000 subset) 0000000000000 select
00000000000Mm

ooooo0 319 0000oooooooo

> subdata <- test[2:4]
> subdata2 <- subset(test,select=c("name","BMI")

subset 00 DO O0OO00OO0O0OOOOODOO0OOO0OOOODOO0OOODOOOOOODOOOOUODOOOOOOO- com-
pletecases) OO 00 DOOO0O0ODOOCOO0ODOOOOODOOO0OOCOCOOODOOODOOOOODODOOOOO 170cm d
goboobogbbooboobboooboobbooboobbobboobo
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000000 320 subset) OO0 O OOOOOOO

> subdata3 <- subset(test,test$height>=170)
> subdata4 <- subset(test,complete.cases(test))

rbind(),cbind(),merge() DO OO0OO0O0OOOOCOO

0000000000 DoDo0oo0oooooOooodOrbind)d00 cbind) OO0 OOrow 000 OO dcolumn O
O0000000000rbind) 0000000000000 Ochind)000000000000OO0ODOOOO0OO
ooooobooooboobobooobooooboon

ofdoodbobooodboobmooooooobooboboob0ob oo booooooo
OO0000O0o0CO0ODO00O0O0000DO0OO0ODO00OO0OO0ODOOD0O0ODO0OO0DOmergeg00OOOOOO
Omerge(x,y,by=0000000) 0000000000000 0O0D0 XO0 AOODDODOODOoOoooyYyoBOO
OOo0DOOoO00ooOo00DOO0O0DO00bOOoO00DOO00DO00DOO00bOOOODO mergeODOOODOO
goooogo

ffelse() 000000000

ODO0O0D0ifelse) D0O00O0000000O0O0O0O0O0O0O0O0O0O0O0O0O0ODifelse() 000 0ifelse(000000MMO
000000DMO0O000000000000000000000000000000000000000000000
00000

0000000000000000000000000000000000000000000000000000
000000000 50000000000000000002300000000000000000000000
00000000000000000000000000000000000000000000000000000
00000000000000000000000000000

000000 321 ifelse)D00000D0OO

> subdata$item <- ifelse(subdata$item>5,NA,subdata$item)

O000D0OOsubdata 0000 O000C temO0000 500000000NA(COO)OO0O0O0DOO0O0OOO
ooooooooooooooooooOoobboOoooooo
oooooooooooooooooooooooooooooooooooooooooROOOOOOOOOO
ocoooboooooooooooooobooooobbooooooooooooobobooooboooobbooooobooooDoDOg
cooobooooboobooobooooooooooOoocOoOooOooOooooboOoooaon

38 DOOOOooon

ROOOOOOOOOOOOOOOOOOOOOO
goooooooooooooooboooOoOorROOOOOODOOODOOODOOODOODOODOODOODOWSOO
gooOoOoOOOOO0O0OO0OO0OO0OOoOUmsoooDOOOOODOOODOOOODODOO

000000322 iis00000000000

> data(iris)

> summary(iris)
Sepal.Length Sepal.Width Petal.Length Petal.Width Species
Min. 14.300 Min. :2.000 Min. :1.000 Min. :0.100 setosa 150
I1st Qu.:5.100 1st Qu.:2.800 1st Qu.:1.600 1st Qu.:0.300 versicolor:50
Median :5.800 Median :3.000 Median :4.350 Median :1.300 virginica :50
Mean :5.843 Mean :3.057 Mean :3.758 Mean :1.199
3rd Qu.:6.400 3rd Qu.:3.300 3rd Qu.:5.100 3rd Qu.:1.800
7 4 6 2

Max. :7.900 Max. :4.400 Max. :6.900 Max. :2.500
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Histogram of iris$Sepal.Length
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iris$Sepal.Length

031 200000000000000

Sepal.Length 00000 OO0 SepalWidth 0 OO OO0 OPetalLength D000 O0O0O0OPetalWidth OO O QOOODO
OO0DOO0ODOSpecies0000O00DOO0O0DOOO0OOO0ODO0O0ODOOODOUODODOUODODDODOOOOOOOOOODOOO

coooogooo
oobooooooooobooobooOoooooOooOoOoOoboboOoobooOoOoooooon

oooo000 323 0O0O00ooooOoOoOoooooo

> hist(iris$Sepal.Length)

gooooOooOoO0oOoOo0OoOO0O0O0OO0O0OOO0OOOOOOOOOOOOOoOOoOOgbreaksOOOOOOO
ooooooooboooon

000000324 000000000000000

> hist(iris$Sepal.Length,breaks=20) ‘

OO00O0O0O0O000 barplot 00000

0oo0oooo 325 0000

> barplot(table(iris$Species)) ‘

000000000000000000000O0boxplot00O00DO0O

000000326 0000000000000

> boxplot(Sepal.Length”Species,data=iris)

0o0oo0oooooooooooooooooooooO0 300 10000000000 ooooooooooo
ocoooooooo 1sxo30000-010000)0000000000O0O0C0O00O0OO0OOOOOOOO0O0O0
ocUO0OOOODODLO

oobooooooooobooobooooooOooOoobOoOooooOoa

oooooo 327 OoOooooooo

> plot(iris$Sepal.Length,iris$Sepal.Width)

plot 0000000000000 0s000000000 plot000000O000000OO0OOOOODOOOO
coooooooo
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033 00000

000000328 JO0OOoOoOoOOOO 2

> plot(iris)

0000000000000 00pchD00O0O0O0ODOOOO0O0ODOOOOOO0ODODOOOOOOODOOOO colO
ooooooobooooooooobootdwpedonoooonooOoOnO

000000329 0O00oooOo0oO0O0o 3

> plot(iris$Sepal.Length,pch=3)
> plot(iris$Sepal.Length,col="blue")
> plot(iris$Sepal.Length, type="1")

00o0oo000ooodooDo0d0ooo0o0oooooooooooOo 330000o0o00ag

000000 330 0JO0oooooooo 3




24 030 0ODOO0OO0OO0OO0OR

> plot(iris$Sepal.Length, iris$Sepal.Width,pch=as.numeric(iris$Species),col=iris$Species)

Rstudio OO0 O0O0O00000000 Export 0000000000000 O0OPDFOOOOOOO0O0O0O0O0O0O0O0O
goooooooooOoOoOoOooOoOooooooboooo

ROOOOOOOOOODOOOOO pie00000O0OOOOO0DDOOO imaged O Ocontour 00 Opsespd OO0
gooooooOoOoOoooooooooooooooooooooooooooooooooooooooooooOo
O0oO0O0000000oo0ooooo0bfrewrn000000O0O0OCOODOOOOCOCCOCOOOOOOO0O0O0OOOOOOO
ooooooo

000000 331 demoOO

demo (graphics)




25

] 410

Ooooooloboooood

ooboOoboo00ooOo0bOoOoboboOoOooRrRO40000000DOODOO0O0OOOODOODOOODOODDOO
goboooooobooooboobooooboobobDoobobobDobObOobUbOoOOobobDo™WoDooo
0000000000000 moDoo0oDo0o0D0O0OD0DO0O0C000000000O0O0DOOO0OOO00 package
0O0o0o00O0obOOo00OROOCOOOOOOOOOOOODOOOODOUODOODOOODOODOODOODOOODOO
goboobodobobooboobboooboobooboboobooo

41 DO0ODOOODOOGUIODODOOOO

OO0O0oROOOOOOOGUIOOOOOOOOOOCOCOOOOOOROOOOOOOOCOOOOOOOOOOOO
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F—&try bEEAD Dataset
7 ANACERESD
RENEDES : NA
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Oo0o00o0oo0ooooOoooO0O00ooooDoOO00oo000wmsO000000000wsO00000D0O0O0B0O000000
0000000000000 0O0O0OOUOO0OOOgOddescribeByOOooooono

000000 4.1 describeBy OO

> describeBy(iris$Sepal.Length,iris$Species)
group: setosa

var n mean sd median trimmed mad min max range skew kurtosis se
1 1 50 5.01 0.35 5 5 0.3 4.3 5.8 1.5 0.11 -0.45 0.05
group: versicolor

var n mean sd median trimmed mad min max range skew kurtosis se
1 1 50 5.94 0.52 5.9 5.94 0.52 4.9 7 2.1 0.1 -0.69 0.07
group: virginica

var n mean sd median trimmed mad min max range skew kurtosis se
1 1 50 6.59 0.64 6.5 6.57 0.59 4.9 7.9 3 0.11 -0.2 0.09
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0000 PetalWidth 0 0000000000000 000O0O0Opartialr 00000000

000000 42 partial.r 00

> cor.mat <- cor(iris[,-5])
> cor.mat

Sepal.Length Sepal.Width Petal.Length Petal.Width

Sepal.Length 1.0000000 -0.1175698
Sepal.Width -0.1175698 1.0000000
Petal.Length 0.8717538 -0.4284401
Petal.Width 0.8179411 -0.3661259

> partial.r(cor.mat,c(1,2,3),4)
partial correlations

0.8717538 0.817
-0.4284401
1.0000000 0.962
0.9628654 1.000

Sepal.Length Sepal.Width Petal.Length

Sepal.Length 1.00 0.34
Sepal.Width 0.34 1.00
Petal.Length 0.54 -0.30

0.54
-0.30
1.00

9411

-0.3661259

8654
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® MacR File Edit Table m Misc Window Help ™
800 | Descriptive Stats > |
Variable Name Type . Correlation |
Reliability
Mean Comparison »
G-Theory >
Non-Parametric tests
Regression

Frequency Analysis >

Data Reduction > Factor Analysis

Classify > Principal Component Analysis
Correspondence '

Power Test »

IRT >

049 MacROOO
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00000000000 000000000lbrary 0000000000000 0O0000O0O0OOODO install.views
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00000043 ctvO0OO0OO0O install.views O O

install.packages("ctv")
library(ctv)
install.views("Psychometrics")
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Psychometrics 0 O O O O Bayesian,MachineLarning,Multivariate,Spatial, Survival 0 0 00 000000000000
0000000000000 0O0O00OU0U0UUUUg avallableviewsOOOOOOODOOODODOOOOO

00O0doo0 44 install.views OO

> available.views ()

CRAN Task Views

Name: Bayesian

Topic: Bayesian Inference

Maintainer: Jong Hee Park

Repository: http://cran.ism.ac.jp/

Name: ChemPhys

Topic: Chemometrics and Computational Physics
Maintainer: Katharine Mullen
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RjpWiki2 00O ctv OO0 O O0O00O0O0O00O0O00DOOCO0O0OOCOO0OO0OO00O0O00O0D00O0O0O0O00O000O0000C0Octv
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Graphics
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gmmML OO0O0OO0OD0OO0O0OOOOO (Generalized Linear Mixed Mode:GLMM) 000000000000 OODOO
00000000000 me4d00000D0OCO0ODODOOODODOO

GPArotation 7000000000000 000O00OO0O0O0DOOOOODOOOOOOOOOOO

kohonen O0O0OO0OO0OOQO Self-Organization Mapping 000 0000000000000 00000000O0OSsom
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451 0J0O0O0OO0OOOODOOOOOODOOO

000000000 000000000000 (http://aoki2.si.gunma-u.ac.jp/R/) 00000000000
00000000000000000000000000000000000000000000000000000
0000000000000000000000000000000 ROODOOOOOOO0O0000000
000000000000000000000000000000

00000045 00000 ROOOOOOOOOOOOOO

source ("http://aoki2.si.gunma-u.ac.jp/R/src/all.R", encoding="euc-jp")
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> shapiro.test(experiment$E)
Shapiro-Wilk normality test

data: experiment$E
W = 0.9193, p-value = 0.2457

> ks.test(experiment$E, "pnorm" ,mean=mean (experiment$E),sd=sd(experiment$E))
One-sample Kolmogorov-Smirnov test

data: experiment$E

D = 0.1622, p-value = 0.8838

alternative hypothesis: two-sided
goooooao:

In ks.test(experiment$E, "pnorm", mean = mean(experiment$E), sd = sd(experiment$E)) :
gooo0oO0oO0oO0oO0oO0oO0oOoOoO0oDO0O0DO0DOoDOoDoODOoDODODDODDODODDODDODOOOO

goooooooooooooooooooooooooooOoooooooOoOooboOoOoooooooDoooooO (@

0)oooooooooooooooOoOOoDOOODO0O0OO0OOOOOOODOOOOOOOOOOOOOOOODOO

coooboooobooooobooooOooOoOoOoOoOboO0OobOOoO0oOoOoOoOoOoOoOCcOO0OOOoO0oOobOOOoOOobOOOoOoOooDooOO
DO00O000O0O00O0vartest 000000 @ODODOODO 5.2)

000o0ooOos2 oOoooooo

> var.test(experiment$E, experiment$C)
F test to compare two variances

data: experiment$E and experiment$C
F = 0.7337, num df = 12, denom df = 12, p-value = 0.6001
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:
0.2238735 2.4045240
sample estimates:
ratio of variances
0.7336957

0000 pOO0 06000 0000000000000 000O0OOO0ODOO0OOOOOOODDOO0ODOOOOOOOO
ood
oooooootooooooooO (@Cooooo s3)o

0o0oo0os3 ooooooo

> t.test(experiment$E, experiment$C)
Welch Two Sample t-test

data: experiment$E and experiment$C
t = 1.6457, df = 23.447, p-value = 0.1132
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
-0.2359867 2.0821405
sample estimates:
mean of x mean of y
7.692308 6.769231

cobooooboooobooooooooooooooobooooooooooooooooooooOooonOt«onod
OOOCOCOOODODOO0D 123447 =1.6457,ns. 00000000000O00OO
ooooo%%%O00000000000000000000000000000000000000000OoOoO
OoooooooOooo0ooooooo-02300 20800000000 9% 00000000 o0000000000
oooooooobooooooooooOboOoobboooboobooooon
oooooootoooooooon
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ooooooooo00oOooOooO00oooOooO0oooOooco0ooooOooooorROOOOOOOOOO0 pwrOO
coboobooooooooobbotdpwrOO000OOoOoOO0ODOO0OO0OO0tOO0OOOO0O0OO0O0OO0O00OO0O0O00O000
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000000 s4 ODOOOOO0OO0OO0OO

> library(pwr)
> cohen.ES(test="t",size="1large")

Conventional effect size from Cohen (1982)
test

size
effect.size

t
large
0.8

ooooo80O0O0O000OoOOOOO0O00D0OOO0000DOOO000DOODOO00000DO0Ob0O000 esO00OO
gooooOOoO0O0O0oO0O0OU0OOoOoOoOoUo tobpoooDooDODOOOOOOODO (OO0 550

ooooooss ooooooooo

> es <- 1.6457 * sqrt((13+13)/(13*13))
> power.t.test(n=13,es)

Two-sample t test power calculation

n 13

delta = 0.6454966
sd = 1
sig.level = 0.05
power = 0.3519796

alternative two.sided

NOTE: n is number in *each* group

o000 o0350000000000000000D000D0O00000O0DOODODODO0OOO0O0DODOODOODOOOOO
ooooooooooooooooooooobobooooooooobOooDo
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00000000 t0000000000 ttest0000000000000000O0O0O paired=TOOOOODOOO
cobooooooobobobobooooboboobooooobooboobooOooOoboooooOoOoDbDOobOOobOOoOooDo
cobOoooboboobooboooooobooboboo0oboobOoooooobooboobOoooooooOobOgnag
ROOOOOOOOOOODOalternative="greater’ 00 000000000000 O0DOCOODOCOOCOOOOOOOO
alternative="less’0 0 000000000OCOCOCOCOOCOODOOOOOO

0000000000000 t0DO0O0O00OD0O00000000000O000 alternetive 0000000 OOO
O”twosided’0 00 00000000000000000000O00O0O

000o0oO0s6 0DoO0OooDttO00

> t.test(anxiety$pre,anxiety$post,paired=T,alternative="greater")
Paired t-test

data: anxiety$pre and anxiety$post
t = 4.14, df = 20, p-value = 0.0002535
alternative hypothesis: true difference in means is greater than 0
95 percent confidence interval:
4.306085 Inf
sample estimates:
mean of the differences
7.380952
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0000 #20)=4.14,p<.05000000000000000000000 430inf00000000000000
do0oo00ddDooOo0odoooD 4300000000000 0bO0o00ddoooooooooooooog(@ooaoa
0 5.6)0

oooooos7 Ooooooooo

> es <- 4.14 *sqrt((21+21)/(21%*21))
> pwr.t.test(n=21,es,type="paired")

Paired t test power calculation

n 21

d = 1.277632
sig.level = 0.05
power = 0.9998386

alternative two.sided

NOTE: n is number of *pairs*

54 000O0OOODOO

goboobboobooboboobooboooboobobooboobobooboobooobooboon

gogbooooboobooboboobooobooboobDbooboobbooboobbooboobDbooon
OO000CO000O0DOOO00DOO0O00DOOO00DOO0O0OOOoUOUODCORObOwvOOODDODOODOOOODODOO
0000000000000 0000  mO000000D0O00000000O0O

goboobobotobUbUeoevOdobOoobo0ooobOo0oboboobobobObOOoO0bOoobObOoOobDbOODOO
OO00OD00DO000O00oOOdO0OoOoooOgoD4s5200000000000O00OOOOOO0ODODUDOODOOOOOg
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> data(iris)
> aov(Sepal.Length”Species,data=iris)
Call:

aov(formula = Sepal.Length

Species, data = iris)

Terms:

Species Residuals
Sum of Squares 63.21213 38.95620
Deg. of Freedom 2 147

Residual standard error: 0.5147894
Estimated effects may be unbalanced

gbooooooooboobobooobooooobooboooobobDobDobDobobobbooboUoDLDO Foo pboo
gbooooooboboboobobobooooobobtbsusmmary JOO0O0O0O0OOO0OODODOODOODODOO
oooon

00000059 aovO0OOOOOOOOOOO

> result.aov <- aov(Sepal.Length”Species,data=iris)
> summary (result.aov)

Df Sum Sq Mean Sq F value Pr(>F)
Species 2 63.21 31.606 119.3 <2e-16 ***
Residuals 147 38.96 0.265

Signif. codes: @ * *** 9,001 ‘' ** 0.01 ‘' * 0.605 ° .’ 0.1 ° ' 1
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> source ("anovakun_440.txt")
> subdat <- subset(iris,select=c("Species","Sepal.Length"))
> anovakun(subdat,"As",3,peta=T)

[ As-Type Design ]

This output was generated via anovakun 4.4.0 at R version 3.0.2.
It was executed on Mon Nov 11 17:08:56 2013.

<< DESCRIPTIVE STATISTICS >>

al 50 5.0060 0.3525
a2 50 5.9360 0.5162
a3 50 6.5880 0.6359

A 63.2121 2 31.6061 119.2645 0.0000 *** 0.6187
Error 38.9562 147 0.2650

Total 102.1683 149

<< POST ANALYSES >>
< MULTIPLE COMPARISON for "A" >

== Shaffer’s Modified Sequentially Rejective Bonferroni Procedure ==
== The factor < A > is analysed as independent means. ==
== Alpha level is 0.05. ==

al 50 5.0060 0.3525
a2 50 5.9360 0.5162
a3 50 6.5880 0.6359

Pair Interval t-value df p adj.p

al-a3 -1.5820 15.3655 147 0.0000 0.0000 al < a3 *

al-a2 -0.9300 9.0328 147 0.0000 0.0000 al < a2 *

az2-a3 -0.6520 6.3327 147 0.0000 0.0000 a2 < a3 *
output is over ------------------—-- ///

goOoOooosi0000000oogoooooooooooooooon anovakuen 0000 OOOODOOODODOO
000000000 Oanovakun 00000000 DOOCOCOO0O0ODOOOOO0ODOOOOOODODOODOOOOOO
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# AsBO O OO

# 0000000 O0DO0DOoDOoDooDOoOOoOOOOoDO0oO0oOoOoDOoOoOoDOoODDOOOOODODOoOO
> dat <- read.csv("anovaSamp.txt",head=FALSE)

> anovakun(dat,"AsB",2,3,peta=T)

[ AsB-Type Design ]

This output was generated via anovakun 4.4.0 at R version 3.0.2.
It was executed on Mon Nov 11 21:06:36 2013.

<< DESCRIPTIVE STATISTICS >>

A B N Mean S.D
al bl 4 6.2500 1.7078
al b2 4 6.0000 2.1602
al b3 4 4.5000 1.2910
a2 bl 6 3.0000 1.5492
a2 b2 6 4.1667 2.1370
a2 b3 6 8.0000 0.8944

<< SPHERICITY INDICES >>
== Mendoza’s Multisample Sphericity Test and Epsilons ==

B 0.2238 2.3148 5 0.8041 ns 0.5000 0.9621 1.2606

LB = lower.bound, GG = Greenhouse-Geisser, HF = Huynh-Feldt

<< ANOVA TABLE >>

== This data is UNBALANCED!! ==
== Type III SS is applied. ==

A 2.0056 1 2.0056 0.6048 0.4591 ns 0.0703
s x A 26.5278 8 3.3160

B 13.4778 2 6.7389 2.6918 0.0982 + 0.2518
B 60.8111 2 30.4056 12.1454 0.0006 *** 0.6029
B 40.0556 16 2.5035

<< POST ANALYSES >>

< MULTIPLE COMPARISON for "B" >

== Shaffer’s Modified Sequentially Rejective Bonferroni Procedure ==
== The factor < B > is analysed as dependent means. ==

== Alpha level is 0.05. ==

bl 10 4.6250 2.2632
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b2 10 5.0833 2.2336
b3 10 6.2500 2.0656

Pair 1Interval t-value df p adj.p
b1l-b3 -1.6250 2.4158 8 0.0421 0.1264 bl = b3
b2-b3 -1.1667 1.4783 8 0.1776 0.1776 b2 = b3
bl-b2 -0.4583 0.6552 8 0.5307 0.5307 bl = b2

< SIMPLE EFFECTS for "A x B" INTERACTION >

Effect Lambda approx.Chi df p LB GG HF
B at al 0.8702 0.1854 2 0.9114 ns 0.5000 0.9186 2.3003
B at a2 0.9964 0.0058 2 0.9971 ns 0.5000 0.9985 1.6621

< MULTIPLE COMPARISON for "B at a2" >

== Shaffer’s Modified Sequentially Rejective Bonferroni Procedure ==
== The factor < B at a2 > is analysed as dependent means. ==
== Alpha level is 0.05. ==

Pair Interval t-value df P adj.p
b1l-b3 -5.0000 7.3193 5 0.0007 0.0022 bl < b3 *
b2-b3 -3.8333 5.4515 5 0.0028 0.0028 b2 < b3 *
bl-b2 -1.1667 1.6592 5 0.1580 0.1580 bl = b2
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> hw <- read.csv(file.choose()) # hw.csv 0O [0 O]
> plot(weight ™ height,data=hw)

> regl <- lm(weight~height,data=hw)

> summary(regl)

Call:
Im(formula = weight ~ height, data = hw)

Residuals:
Min 1Q Median 3Q Max
-6.8044 -4.4821 ©0.3781 2.4732 8.7127

1000000 Y=eX+bhOOODOOOODOO0O0D00000000000000000 (OO000000)O
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Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) -57.8537 37.4826 -1.543 0.140
height 0.7034 0.2359 2.981 0.008 **
Signif. codes: @ *‘ *** @§.001 ‘ ** 0.01 ‘ * .65 .’ 6.1 ° ' 1

Residual standard error: 4.702 on 18 degrees of freedom
Multiple R-squared: 0.3306, Adjusted R-squared: 0.2934
F-statistic: 8.888 on 1 and 18 DF, p-value: 0.008004

goooooooooooooooooooo0 ()ooooooooooOoooooooooooo mOoODOO
OROOOODOOODOOOOOOOOOOO

O00000Oweight = 0.7034 x hight —57.8537 0 00 0000000000000 0O000O0O0O0O0O0OO0OOCOO
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> predict(regl) # 00O O Ohat{y} 0D OO
1

2 3 4 5 6 7 8 9 10 11
54.69411 51.17699 56.10096 52.58384 56.10096 56.80438 61.02492 48.36329 56.10096 48.36329 50.47356
12 13 14 15 16 17 18 19 20

55.39753 55.39753 57.50780 52.58384 53.28726 51.88041 51.17699 56.10096 51.88041
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> regl$residuals # 00 00D
1 2 3 4 5 6 7 8 9
2.3058912 3.8230111 1.8990433 -0.5838369 7.8990433 -6.8043807 2.9750755 -0.3632931 -6.1009567
10 11 12 13 14 15 16 17 18
-0.3632931 -5.4735650 -5.3975327 -1.3975327 1.4921954 4.4161631 8.7127392 1.1195871 -4.1769889
19 20
-6.1009567 2.1195871

O000000D000000000000 54.6% 00000000 23lkg00000000O00O0O0@OODO0OO
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000000000000000000000000000000000000000000

s 00000 0O00OO0O0DOO0DOO0OOO0OO0O0DYOOOOOO ABOOODDOOUOOADYOODOODODO
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0000 R00000000000D0D00000000000000000000000000000O00AO0OO
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00000000000 00000D0000000000D00000 (Partialouwt) 1000000 OO0OOODODOO
000000000000 00D00O00O0 (partial regression coefficient) 0 0 00000000000 0OOCOOOOO
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s 0000000 0O0OO0O0OO0OO0OO0OO0O0OO0O0OO0OO00O0O0OO0OO0O0O0DO0CO0O0DO0OO0O0ODOOOOODOOOOn
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00o000o0o0oO0oU0o0oOoU0Oo0oOO0oUDO0DO0OULO0OO0OULO0DO0OUOOO0OUOODOOUOOOOoOO
oo0o0o0ooO0bo0ooooOobD0oOoOo@OobooOoobOobOOoo0ooOobOD0obDOobOoDobOoDOobDooboooo)Ho

0000000000000 000O000000D0000000OD000D0DOOD (standardised partial regession
coefficient) D0 OO0 O0OODODOO0O

s 0000000000000 0O0O0O000O0O0O00000000000000000000000O00O000Q
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00000 BOO YUOOOOODUODOOODUOODAD BOUOODODODODUOODODA-YODOODODOOO B-A—-YOO
0000000000000 0 A-YDODOOOOODODODODODODOOODODOODOOOOOOOODODOOOOOoOO
O (multicollinearity, 0 0 000 0)000000O0OOO

0000000000000 0000000000000000000000000000000oooooooon
JoddooooooooooobobobobbobobbobboddddddoooooooooooDooobooboobooOo
oooooo

000000000000 0000000000D0000004dVIF(Variance Inflation FactorD OO OO0 O0) 00
000000000oo0 100oo000oo0o0o0oooooooooooo

s 0000000D000000O00 OOO0OO0ODOOO0OO0OOoOoO0obOOO0O0ObOOOoOobOObOOoODOOODObOOODO
cooobodooobooooooooOooOooOooOoboO00oboo0oOoOooOoOooooOboOoOoOooOoobboOooooOoboOoOoooa
coooooooboooooboooooobooooobooboooooooooooooboooooooboboOoooooooooa
coboboodoobooooooooooboooobooooooooooooooocoooooooboooooooooonoag
cooooooooooooooooboOooooboooooooo
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> reg2 <- lm(kakaku“kyori+jotai, data=used_car)
> summary(reg2)

Call:
Im(formula = kakaku

kyori + jotai, data = used_car)

Residuals:
Min 1Q Median 3Q Max
-9.805 -4.107 -1.268 2.388 13.842

Coefficients:
Estimate Std. Error t value Pr(>|t])

(Intercept) 70.588 21.583 3.271 0.00967 **
kyori -6.353 1.720 -3.694 0.00496 **
jotai 5.628 2.000 2.814 0.02024 *
Signif. codes: @ * *** 9,001 ‘' ** 0.01 ‘' * 0.605 ° .’ 0.1 ° ' 1

Residual standard error: 7.786 on 9 degrees of freedom
Multiple R-squared: 0.9566, Adjusted R-squared: 0.947
F-statistic: 99.31 on 2 and 9 DF, p-value: 7.353e-07

00 0000kakaku = —0.6353 X kyori — 5.628 X jotai +70.588 0 0 0000000000000 O00O00O0O0OOO
00D0000000D0D00000 R?009560000000000000000000000000

ooo0oo0oooooo0o0oooooo0o0o00ooDooo0 (U600 D0ODODOOOOOOOODO
coooooooo
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> z <- scale(used_car)
> z <- data.frame(z) # 000 O0DO0OO0OO0OOOOOO
> summary (lm(kakaku“kyori+jotai, z))

Call:
Im(formula = kakaku ~ kyori + jotai, data = z)

2 00000000000000000000000000000000000000000000000000000000000
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yori, used_car$jotai, used_car$kakaku)[,2]

[ox

car$kyori, used_car$jotai, used_car$kakaku)[,1]

J(usedp car$kyori, used_cars$jotai, used_car$kakaku)[,3]

1_car$k

062 0ODO0DO0OO0DOOOOO@OOO)

Residuals:
Min 1Q Median 3Q Max
-0.28989 -0.12143 -0.03748 0.07059 0.40925

Coefficients:
Estimate Std. Error t value Pr(>|t]|)
(Intercept) 1.154e-16 6.645e-02 0.000 1.00000

kyori -5.703e-01 1.544e-01 -3.694 0.00496 **
jotai 4.344e-01 1.544e-01 2.814 0.02024 *
Signif. codes: 0 ‘ *** @.001 ‘ ** @.01 ‘ * ©0.05 ° .’ 0.1 ° ' 1

Residual standard error: 0.2302 on 9 degrees of freedom
Multiple R-squared: 0.9566, Adjusted R-squared: 0.947
F-statistic: 99.31 on 2 and 9 DF, p-value: 7.353e-07

00000000000 0000 (RH0O0000000000000000000000D000000 e0000
O000000000000000000000e010 107'0000000000000000000O0ODOO0O
-5.703x 107! =-5.703x 0.1 =0.5703 0000000000000
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> reg3 <- lm(kakaku“nensu+kyori+jotai, data=used_car)
> summary(reg3)

Call:
Im(formula = kakaku ~ nensu + kyori + jotai, data = used_car)
Residuals:

Min 1Q Median 3Q Max

-8.555 -4.120 -1.068 1.941 13.948
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Coefficients:
Estimate Std. Error t value Pr(>|t])
(Intercept) 70.932 22.673 3.128 0.0140 *
nensu 1.593 3.899 0.408 0.6936
kyori -7.984 4.381 -1.822 0.1059
jotai 5.590 2.101 2.660 0.0288 *
Signif. codes: @ ‘ *** @.001 ‘ ** .01 ‘ * .65 .’ 6.1 ° ' 1

Residual standard error: 8.173 on 8 degrees of freedom
Multiple R-squared: 0.9575, Adjusted R-squared: 0.9416
F-statistic: 60.13 on 3 and 8 DF, p-value: 7.865e-06

0000000000000 oooooooDOoDreg30step0 000000 OstepO0 0000000 (AIC)ODODO
gbooboooooooogo

oooooOoe6 OOOOOOOOOO?Z2

> step(reg3)
Start: AIC=53.55
kakaku “ nensu + kyori + jotai

Df Sum of Sq RSS AIC
- nensu 1 11.15 545.55 51.803
<none> 534.40 53.555
- kyori 1 221.85 756.25 55.722

- jotai 1 472.79 1007.19 59.160

Step: AIC=51.8
kakaku “ kyori + jotai

Df Sum of Sq RSS AIC

<none> 545.55 51.803
- jotai 1 480.05 1025.59 57.377
- kyori 1 827.27 1372.81 60.877
Call:
Im(formula = kakaku ~ kyori + jotai, data = used_car)
Coefficients:
(Intercept) kyori jotai

70.588 -6.353 5.628

gboooooobobobobooooooboobobobobo0obbUnensu0000O0OoooOOoOOobDODbDOO
OOAICO 535500 51800000 AICOODOOOCOCOOO0O00O0O0O0ODOOOOOO0000)Y00o0ooooaon
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> library(car)
> vif(reg3)

nensu kyori jotai
24.346714 29.137302 4.957389

VIFOOODO400050001000000000000000000000000DOO0O0DOOOOOOOODOOOO0
o000 2000000000000000000000O0O00000C0OOO000DO 10D00000O0OOOOO0
o0 VIFO 1000000000000o0o0ooooooo0o0oo0cooooobooooooooooooooooaon
ocoooooooooooooooobooOooobbooooooooooooobobooooooooboboooooooooDoDOg
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6.3.1 00000 Quantile Regression
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ocooooooooooooooooboooobbo0ooooooooooooboboooooooobboooooooooDoDOg
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quantree 100000000000 OOO0OOOOOO0ODOOOO0OOOOOOOOOO0ODOOOODOOOOODOOO0ODO
O0nqO0000%¥000000000000000000000000000000000000O0D0000000
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> library(quantreg)

> data(engel)

> hist(engel$income)

> rq(foodexp~income,data=engel,tau=seq(0,1,0.1))

Call:

rq(formula = foodexp ~ income, tau = seq(0®, 1, 0.1), data = engel)

Coefficients:
tau= 0.0 tau= 0.1 tau= 0.2 tau= 0.3 tau= 0.4 tau= 0.5 tau= 0.6 tau= 0.7
(Intercept) 113.1406322 110.1415742 102.3138823 99.11058 101.9598824 81.4822474 79.7022726 79.283617
income 0.2942315 0.4017658 0.4468995 0.48124 0.5098965 0.5601806 0.5858492 0.608851
tau= 0.8 tau= 0.9 tau= 1.0
(Intercept) 58.0066635 67.3508721 225.3824790
income 0.6595106 0.6862995 0.6403102

Degrees of freedom: 235 total; 233 residual

000000000000 30%00000000 048 00000060%0000 05890% 0000 0680000
00000000000000000000000000 6300*“0000000000000000000000

*3 Quantile Regression 00 qr 0 0000000000000 O00ROO0O00O0000O0000OQRONONOND 000000 D0000ODN
000000000000000000
* quantreg 000000 rq000000000
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6.3.2 00O0O0OO0ODOO0O Generarized Liner Model

0000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000000000
0000000000000000000000000000000000000 GLMOOOOO0OO00000O

00000000 y=XB+e00000000%0000 gw=X000000000000000000 00
0000000 (MO00)0000000000000000 ¢(-)00000000000000000000000
0000000000000000000000000000000

00000000000 000000000000000000000000000000000000000
0000000000000000000000000legw 000000000000000000000000
(Yes/No,True/False,Dead/Alive 0 0 00)0000000000000logu/(1-x)000000000000000
00000000000

ROODOOOOOOO0O0000000O0O000000000000000000000 Im0000000 gimO0
00000000000000 family000O0O000)000000000000000000000000000

ROODOODOOO0O000ODairquality 00000ImO00 ¢glm00000000000000000000 19730
500090000000000000000000000000000000 6000000000 15400000
00000000000000000000000000000000000000000000000000000
0640000000000 (,+inf)000000000000000GLMOO0O0000O0OO0
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Histogram of airquality$Solar.R
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vV V VvV

>

data(airquality)
result.lm <- 1lm(Ozone~Solar.R+Wind,data=airquality)

result.glm
AIC(result

[1] 1033.816

>

AIC(result

[1] 971.8726

<- glm(Ozone~Solar.R+Wind,data=airquality, family=Gamma)
.1m)

.glm)

goooooooooooooooooooooOooOooOoOoOoOOOOb0OObOODO AICQOQODOOOoOooGeMOOO
gooooooGeLMOoOoOoOoOOOOOOOOODOOODOODOOOOo
gobooooooooobooooooobooooooooOooOooO0oobOo0OoboooobooOoobooOoOoOoooDooag
cooboooooooooobooboooo
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7.2

psychOOOQOOOOOOOODOOO

pgooooopooooooooooooooooooooooOOOOOOOO0O30OOOOOOOOO0O0O0O0O0OO0O
0RO factanal 000 0000000000000 00000O0O000000O0 psychOOOOOOOODOOOOO
OOpsychOOOOOOOOOOOOOOOOOO

1.

faparallel OOODOOOOOOOOO
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2.fa0 000000000000
J.print00000000OCCOO

cooood

721 psychOODOOODOODOODOOODODOO

0000 psychOODOODDOOODOOOODOODODOODUOODOODOODUODODODODDODODODODOODOOO
OO Oinstallpackage 0000000000000 OlLbrary OO0 ODOOOO0O0OCOO0OORstudioDOOOOOOOO
Package 100 O00OO0DO0OOOOOOOODOOOODOOOOOOO

oooooo 7.1 psychO0OOO0OOODO

library(psych)

install.packages("psych")

psych 000000000000 M iOOODOOOOOODODOO0ODOOOOO

oooooo 72 viod0oOoOOoO0OO

data(bfi) # 00D 00000 bfi OODODODO
help(bfi)
head(bfi)

bidOdO0280000000000250000000500000000000000000000000000O00
OOOChelpO0O0O head 0000000000000 0O0O0O0O0O0O0O0O0O0OOOOOOOOO

722 00O0O0O0OO

gbobobooo0ooooooOooOobOO0bDO0bOobOoU0obOU0oO0OooODOoD0obODO0obOOobUobROODODODODODODO
OOO00OVSSscreeOOODOOOOOOODOOOOOODOODOOOOOODDOOOOODDODOOOOODDODO
O faparallel OOOO0O000000000000O0O0O0OOODOOOOOOOOOOO0O0O0000O0O0O0O0O0O0OOO
gboooooooooboooboboboooooooooooboboboboboooboobooboobOoboboboo
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> VSS.scree(bfi[1:25]) # 0 0D OO0 O0OO
> fa.parallel(bfi[1:25]) # 000000000 O0O0OOODODODODODODODDODODODD
Parallel analysis suggests that the number of factors = 6 and the number of components = 6

OO000000oOOo0oOooooOoO0D 6eUObOOUOUODOOUODOOOO
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000000000000 000000000000000000 fa0D 000000000000 0O0O000OO0
faresult 0000 0O0OODOOODOO

oooooo074 oooOooOoO0o

fa.result <- fa(bfi[1l:25],nfactors=6,fm="ml",rotate="promax",scores=TRUE)

*1DDDDDDDDDDDDDDDDDDDDDfa.parallel.polyDDDDDDDD
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000000 fmO0000000000000mines 0000000000000 O0ODOOOOODOOOODOO
o000 mhoooooooooood
0000000000000 0U00U00000000D00D0D0D0D 000000 0D0Dooooooooooooon
goooooooooooogooooobbb oo b oo ooobooboobooa
0o000o0o0o0oU0U0oooU00ooOoU0U00ooo0U0UOoOoU0DO0OOoO0UO0DOOODUODOOUODOfa0Oon
000000 d”varimax”, ”quartimax”, “bentlerT”, ”geominT”, bifactor”,’promax”, ”oblimin”, ’simplimax”, ’bentlerQ,
”geominQ”, “biquartimin”, “cluster’ 0 0 0 0 0000000000000 0OOOOCOCOOO0O0O0000OOO promax O
gooooooooo
0000o0o0oo0oooooooooo0o0000GPArotation 0 000000000000 OoOoO0oOoOooOood
(targetT,targetQ,pstT,pstQ) D 000000000000 (entropy,infomaxT,infomaxQ,mccammon)dTandem O O 0 O O
000 (tandeml,tandemlIl)0 Crawford-Ferguson family D 0 0O (cfTcfQ) OO0 00000000 OO0O0OOOODOO
OO0OOscores000000D0OO0ODOOOO0O0OO00ODODOOOOOO0OODOO TRUEDOODOODOOOOOOOOOO
00000 faresult 0000000000 O0ODODOODOODOODOOOOODOOO
fadO00000000OD0OD0OO0OCOCOOO0O000000ODOO0OCOO0000000ODO0OCO00d imputed0Q00OQd
00000000oooooooo00U00000D0ooooO0000000O00D0D0ODODROD MIOODOOOOOOO
Joooooooooooobobboboboboboboobooooad
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ooooooooooooooooooooboOooooooOooOoOooO0O0oOoooOoooO0OooO0n sertdooono
OTRUEOD)OOOOOOOOOODOODdigit=300000 3000000 000pooooooooooooooon
OOCcut=0300000000300000000000000000000000O0O0O0

000000000000000D0000000 (W)0000 =1-pH000000000000000000
coobobodooooooooocoooooooboooOooooOoOooOoOoOooOboOooooOoboOooonoa

oooooo7s ooooooo1

> print(fa.result,sort=TRUE,digit=3,cut=.3)

Factor Analysis using method = ml
Call: fa(r = bfi[1:25], nfactors = 6, rotate = "promax", scores = TRUE,
fm = "ml")
Standardized loadings (pattern matrix) based upon correlation matrix
item ML1 ML2 ML3 ML5 ML4 ML6 h2 u2 com
E2 12 -0.742 0.550 0.450 1.57
E4 14 0.716 0.558 0.442 1.10
El 11 -0.655 0.385 0.615 1.56
E3 13 0.555 0.379 0.477 0.523 2.73
ES 15 0.484 0.397 0.603 3.26
AS 5 0.370 0.366 0.477 0.523 1.14
N4 19 -0.356 0.353 0.477 0.523 1.04
N2 17 0.927 0.691 0.309 1.30
N1 16 0.917 0.705 0.295 2.08
N3 18 0.646 0.521 0.479 1.88
N5 20 0.376 0.345 0.655 1.44
Cc2 7 0.750 0.498 0.502 1.04
Cc4 9 -0.651 0.546 0.555 0.445 2.11
Cc3 8 0.596 0.308 0.692 1.33
C1 6 0.595 0.346 0.654 2.23
C5 10 -0.551 0.340 0.426 0.574 1.10
A2 2 0.661 0.495 0.505 1.08
Al 1 -0.603 0.330 0.670 1.08
A3 3 0.553 0.511 0.489 2.88
A4 4 0.339 0.281 0.719 2.47
05 25 0.599 0.370 0.630 2.32
03 23 -0.554 0.360 0.484 0.516 1.25
02 22 0.498 0.290 0.710 2.20
01 21 -0.461 0.321 0.343 0.657 3.17
04 24 -0.352 0.251 0.749 1.17
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ML1 ML2 ML3 MLS ML4 ML6
SS loadings 2.682 2.451 1.966 1.597 1.484 0.891
Proportion Var 0.107 0.098 0.079 0.064 0.059 0.036
Cumulative Var 0.107 0.205 0.284 0.348 0.407 0.443
Proportion Explained 0.242 0 0.178 0.144 0.134 0.080
Cumulative Proportion 0.242 0.464 0.641 0.785 0.920 1.000
With factor correlations of
ML1 ML2 ML3 ML5 ML4 ML6
ML1 1.000 -0.376 0.341 0.320 -0.217 -0
ML2 -0.376 1.000 -0.092 -0.104 ©0.145 ©0.
ML3 0.341 -0.092 1.000 0.312 -0.192 0.249
ML5 0.320 -0.104 ©0.312 1.000 -0.075 O
ML4 -0.217 0.145 -0.192 -0.075 1.000 O
ML6 -0.149 0.469 0.249 0.222 0.114 1

O00000000000000000000000000000000000Oy?0000000ORMSR,RMSEA,BIC
oooooooboooooo

0oo0000 7.6 ooOOOOOO20000

Mean item complexity = 1.8
Test of the hypothesis that 6 factors are sufficient.

The degrees of freedom for the null model are 300 and the objective function was 7.228
with Chi Square of 20163.79
The degrees of freedom for the model are 165 and the objective function was 0.364

The root mean square of the residuals (RMSR) is 0.02
The df corrected root mean square of the residuals is 0.038

The harmonic number of observations is 2762 with the empirical chi square 661.285 with prob < 1.36e-60

The total number of observations was 2800 with MLE Chi Square = 1013.785 with prob < 4.64e-122
Tucker Lewis Index of factoring reliability = 0.9222

RMSEA index = 0.043 and the 90 % confidence intervals are 0.0403 0.0454

BIC = -295.882

Fit based upon off diagonal values = 0.991
Measures of factor score adequacy

ML1 ML2 ML3 ML5S ML4 ML6
Correlation of scores with factors 0.916 0.935 0.879 0.860 0.837 0.807
Multiple R square of scores with factors 0.839 0.875 0.772 0.739 0.701 0.651
Minimum correlation of possible factor scores 0.678 0.750 0.545 0.478 0.402 0.302

00000000000 000000000000O0 scores000000000000000 heaedOOODOOOOO
coooooooooooobooboooo

oooooo0 7.7 oooo

> head(fa.result$scores) # 0 00O

ML1 ML2 ML3 MLS ML4 ML6
61617 -0.233869576 -0.09660374 -1.6427054 -0.7478329 1.3297857 -0.913788881
61618 0.349364870 0.03948985 -0.5163990 -0.1956834 0.2265806 0.053653296
61620 0.006487571 0.69876718 -0.0214491 -0.7157791 -0.2559985 -0.004667037
61621 -0.163451729 -0.01110545 -0.8806610 -0.3484800 1.2996553 0.388638549
61622 0.288477162 -0.29990788 -0.2982969 -0.7639309 0.5447726 -0.479501495
61623 1.168699158 0.16655125 1.4715096 0.1273263 -0.5252744 0.112873954
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> alpha(bfi[1:25])

Reliability analysis
Call: alpha(x = bfi[1:25])

raw_alpha std.alpha G6(smc) average_r mean sd
0.82 0.82 0.86 0.15 4.2 0.61

oooao
ooooooo:

In alpha(bfi[1:25]) :
Some items were negatively correlated with total scale and were automatically reversed.

oo0o0ooooo0o820 0000000000000 00O0O0O0O000DOO0O000O000000O0Oalphald
cobobOooooooooooooOooobOOoobooOotbeb00oooboooOoboooboboOoobboooboboonooonono
ocooooooooooooooooboooobbo0oooooooooooobooooo0oobboooooooooDoDo
cooooooobooooooooOooOoOoOoOoOboO0OobOOoOoOoOoOoOoOoOoOCcOO0OOOoOoOobObOOoOoOoOOoOoOooDooO
O0o000000ooooooooO0000oooooooO0O0000000O0O0OpsychOOODOOO alpha0O000O0O
cobooboooooobomooooooooooooooooooboobboooboboooboooboOoboOoooa
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oooooo 79 DoOoOoOoOoooOo 2

> omega(bfi[1:25],6,fm="ml")
Omega

Call: omega(m = bfi[1:25], nfactors = 6, fm = "ml")
Alpha: 0.82
G.6: 0.86
Omega Hierarchical: 0.47
Omega H asymptotic: 0.53
Omega Total 0.88

oo
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X1
X2
X3

082 0OO0OOOOOO

081 00000

ooooo oo
GFI Goodness of Fit Index
AGFI Adjusted GFI oo0oooOoooooonO
NFI Normed Fit Index
CFI Comparative Fit Index
RMSEA Root Mean Square Error of 0.050000000000000.100
Approximation ooboooooogoo
AIC Akaike Information Criterion 0000000000000 O0OOOO

ooboooooooooon
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> install.packages("lavaan")
> library("lavaan")

821 OOOOOO
lavaan 000 00000000000000000O0000O

e J00D=0000 1+243+.. 000000
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koutei ——I=m anzoku‘—@

sekkyoku

dl

083 0OO0OOOOOOO

> ip <- read.csv(file.choose()) # datal®-1.csv O[O0 O]
> ip

koutei sekkyoku manzoku
1 34 7 8
2 31 6 4
3 30 4 3
4 17 3 5
5 13 2 2
6 18 4 5
7 17 4 2
8 28 4 7
9 23 5 5
10 29 3 4
11 33 7 8
12 25 3 2
13 37 5 6
14 24 6 5
15 33 6 7
16 38 8 7
17 23 5 3
18 20 3 2
19 26 6 8
20 37 3 7

OO0 koutei OO0 OO0D0O0O0O00DO0OsekkyokuO0OOOO0O00000000Omanzoku D000 OO0O0OO
cobooooooooobomoobooooboooboooobooooOooooOoooOoOOmoooooooooooooooog
oonooooooobooooboooooooooooooooooooocoooooooooooooooonoag
goooooooooooobooobooooooog3ooooooooo

OO00000 lavaan 0000 0000000000000

00000083 000000000000 2000000

model.ip <- ’
manzoku ~ koutei + sekkyoku
sekkyoku ~ koutei

+ + + Vv

0830000 Okoutei O sekkyokun DO O0O0O0O000 manzokn 00000000000 O0O0O000 “manzoku
koutei + sekkyoku” 0 0 0000000000 koutei 00O OO0 sekkyoku OO OO0 O0ODO QOO “sekkyoku koutei”
o0o0ooooo0ooooooooooooooo

000000000000 000 modelipOOOOOSEMODOOOOOOOOOOODOOODOOlavaanO0O0OO
00000000 semO00000000O

oooo000 84 DOOOOOOOOOOO3:O0O0OOOOO0O0O0O

> result.ip <- sem(model.ip,data=ip)




83 0000 63

OO0O00000 summary 000000000000 DDOOO standardized=TRUE 0D 00 O0O00OOOCOOOO
fitmeasures=TRUEOOOOOOOOODOOOmodindicess=TRUEOOOOOOOOOOOOOOOOOOOOOOO
oono

00000085 000000000000 40000

> summary(result.ip, standardized=TRUE)

lavaan (0.5-14) converged normally after 16 iterations

Number of observations 20
Estimator ML
Minimum Function Test Statistic 0.000
Degrees of freedom 0
P-value (Chi-square) 0.000

Parameter estimates:

Information Expected
Standard Errors Standard

Estimate Std.err Z-value P(>|z]) Std.lv Std.all

Regressions:
manzoku ~
koutei 0.120 0.056 2.159 0.031 0.120 0.408
sekkyoku 0.533 0.248 2.147 0.032 0.533 0.406
sekkyoku ~
koutei 0.129 0.041 3.165 0.002 0.129 0.578
Variances:
manzoku 2.146 0.678 2.146 0.477
sekkyoku 1.739 0.550 1.739 0.666

0000 “Parameter estimates:” 0 0 0O 0 0O 0O O 0O O “Regressions:” O “Estimate” 00000000 O 0O0OO0.120,
0.533,0.1290 0 00000000“Stdall”’ 0000000000 00.408,0.406,0.5780 0000000000000
000000000000 000 “Plz)’0000000D00O0OO0O0O0DOOOOOOOODOOO SPSSOOO [10]
gobooboboooboo

0o000ooo0O000oooO00o0ooO00ooooo0oo

832 UULOODOODOODOO
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> test <- read.csv(file.choose()) # datal®-2.csv O [0 O]
> head(test)
benkyo_a benkyo_b kitai_a kitai_b jishin_a jishin_b

1 5 6 2 3 36 31
2 4 4 5 6 51 45
3 4 7 6 5 62 41
4 5 5 5 4 50 28
5 4 5 4 5 60 38
6 5 7 3 2 50 34

coooooobooooboooooooo

e benkyo_a: 000000 OOODODO
benkyo_b: 0O 0OOODOODODOODO

kitai_a: O0OOO0OOOODOOOOOOO

kitai_b: DO0O0OOCOOOCOOOCODOOO

e jishin a: 000000 ODODOODO 1I0000D0ODOOOOOO
jishin b: 000000000000 100000000000O00OO
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| benkyo_a || benkyo_b |

084 OD0OOOODOOODO

gbobooooooobooobooboboboboonobooooobooboboboboboooooooboboDbo
oooooooobooOoooooOooooOooobooO0oO0oDooO00oboOooooOooOoOoDoo g40b00U0DDOOOO
O00000000lavaan 00 O0O0O0O0O0O0O0OOOO

00000087 0DO0OO0O0OO0O0O0OO0O0OO0OO0OO 2000000

model . testl <- '’

benkyo =" benkyo_a + benkyo_b
kitai =" kitai_a + kitai_b
jishin =" jishin_a + jishin_b

jishin ~ benkyo + kitai
kitai ~ benkyo

+ 4+ o+ V

benkyo =" benkyo_a + benkyo b 00 00D OO0OOODOOO“0000 benkyo_a O benkyo_ b OO0 00O
benkyo 00 O0OD00O0OO0OCOO”0000000COCO0OO20000000¢%jishin ™ benkyo + kitai”OO0O0OO
gooooo9shmO0O0O0O0OO0OOOOOOOOO”00O0O0O0O0O0OOOOOOOUOUOUODOODUODUOODODODOOOOO
goad

O000U000D0semO0000000summary 00000000000 CO0O00O0O0OOODOOOOOOOOOO
000000000 fitmeasures 100000 modindices 000000 TRUEODODODOODOOODOOOOODOOOO
ooo

ooo0o000 88 ODoOOOOO0O0O0bOooOO0O 300000000000

> result.testl <- sem(model.testl,data=test)
> summary(result.testl, standardized=TRUE, fit.measures=TRUE, modindices=TRUE)

lavaan (0.5-14) converged normally after 64 iterations

Number of observations 30
Estimator ML
Minimum Function Test Statistic 9.162
Degrees of freedom 6
P-value (Chi-square) 0.165

Model test baseline model:

Minimum Function Test Statistic 94.929
Degrees of freedom 15
P-value 0.000

Full model versus baseline model:

=]

Comparative Fit Index (CFI) .960
Tucker-Lewis Index (TLI) 0.901
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Loglikelihood and Information Criteria:

Loglikelihood user model (H®) -378.
Loglikelihood unrestricted model (H1) -374.
Number of free parameters
Akaike (AIC) 787.
Bayesian (BIC) 808.
Sample-size adjusted Bayesian (BIC) 761.
Root Mean Square Error of Approximation:
RMSEA 0
90 Percent Confidence Interval 0.000 ©O.
P-value RMSEA <= 0.05 0
Standardized Root Mean Square Residual:
SRMR 0
Parameter estimates:
Information Expe
Standard Errors Stan
Estimate Std.err Z-value P(>
Latent variables:
benkyo ="
benkyo_a 1.000
benkyo_b 1.213 0.313 .883 ]
kitai ="
kitai_a 1.000
kitai_b 0.787 0.240 .278 ]
jishin ="
jishin_a 1.000
jishin_b 0.901 0.177 .082 0
Regressions:
jishin ~
benkyo 5.468 1.730 .161 ]
kitai 4.659 1.625 .867 0
kitai
benkyo -0.029 0.258 -0.112
Variances:
benkyo_a 0.508 0.240
benkyo_b 0.260 0.303
kitai_a 0.418 0.361
kitai_b 0.637 0.269
jishin_a 26.182 14.055
jishin_b 23.355 11.672
benkyo 0.941 0.404
kitai 1.347 0.561
jishin 29.555 16.169
Modification Indices:
lhs op rhs mi epc sepc.lv sepc.
1 benkyo =" benkyo_a NA NA NA
2 benkyo =" benkyo_b 0.000 0.000 0.000 0.
3 benkyo =" kitai_a 0.808 -0.217 -0.210 -0.
4 benkyo =~ kitai_b 0.808 0.171 0.165 0
5 benkyo =" jishin_a 1.478 2.545 2.469 0
6 benkyo =" jishin_b 1.478 -2.292 -2.224 -0
7 kitai =" benkyo_a 0.010 0.014 0.017 0
8 kitai =" benkyo_b 0.010 -0.017 -0.020 -0
9 kitai =" kitai_a NA NA NA
10 kitai =" kitai_b 0.000 0.000 0.000 0
11 kitai =" jishin_a 1.478 -2.169 -2.518 -0
12 kitai =" jishin_b 1.478 1.953 2.267 0
13 jishin =" benkyo_a 0.010 0.003 0.028 0
14 jishin =" benkyo_b 0.010 -0.004 -0.034 -0
15 jishin =" kitai_a 0.808 -0.039 -0.357 -0
16 jishin =" kitai_b 0.808 0.030 0.281 0
17 jishin =" jishin_a NA NA NA
18 jishin =" jishin_b 0.000 0.000 0.000 0
19 benkyo_a " benkyo_a 0.000 0.000 0.000 0
20 benkyo_a " benkyo_b NA NA NA
21 benkyo_a """ kitai_a 1.047 -0.153 -0.153 -0
22 benkyo_a " kitai_b 1.595 0.171 0.171 0
23 benkyo_a " jishin_a 3.024 -1.927 -1.927 -0
24 benkyo_a " jishin_b 3.035 1.738 1.738 0
25 benkyo_b " benkyo_b 0.000 0.000 0.000 0

@R woOoee

.970
.177

.161
.914

.251
.331

.573
.585

.024

582
001
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164
182
479
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294
.202
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cted
dard
lz|) Std.1lv
.000
.001
.000
.002
.004
911 -
2
2
all sepc.
NA
000 0.
158 -0.
.136 0.
.234 0.
.231 -0.
.014 0.
.016 -0.
NA
.000 0.
.238 -0.
.235 0.
.023 0.
.026 -0.
.269 -0.
.232 0.
NA
.000 0.
.000 0.
NA
.096 -0.
117 0.
. 151 -0.
. 150 0.
.000 0.

Std.

RO

all

.806
.918

.874
.753

.875
.865

.573
.585

.024

.350
.158
.237
.433
.234
.252
.000

345
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26 benkyo_b " kitai_a 0
27 benkyo_b "" kitai_b 0
28 benkyo_b “~ jishin_a 5.055 2.823 2.823 0.208 0.208
29 benkyo_b ~” jishin_b 5
30 kitai_a "7 kitai_a 0
31 kitai_a "7 kitai_b NA NA NA NA NA
32 kitai_a jishin_a 1
33 kitai_a jishin_b 1
34 kitai_b " kitai_b 0. . . . .
35 kitai_b "7 jishin_a 0.279 0.664 0.664 0.052 0.052
0
0

36 kitai_b "7 jishin_b

37 jishin_a jishin_a

38 jishin_a "" jishin_b NA NA NA NA NA
39 jishin_b "7 jishin_b 0.000 0.000 0.000 0.000 0.000
40 benkyo "~ benkyo 0.000 0.000 0.000 0.000 0.000
41 benkyo ~~ kitai NA NA NA NA NA
42 benkyo ~~ jishin NA NA NA NA NA
43 kitai ~~ kitai 0.000 0.000 0.000 0.000 0.000
44 kitai °~ jishin NA NA NA NA NA
45 jishin "~ jishin 0.000 0.000 0.000 0.000 0.000
46 jishin ~ kitai 0.000 0.000 0.000 0.000 0.000
47 jishin -~ benkyo 0.000 0.000 0.000 0.000 0.000
48 kitai ~ jishin NA NA NA NA NA
49 kitai ~ benkyo 0.000 0.000 0.000 0.000 0.000
50 benkyo ~ jishin NA NA NA NA NA
51 benkyo ~ kitai NA NA NA NA NA

O0000 WebOODO [11]00 GFIO AGFIDRMROOOOOOOOOlavaan OO0 00000000 OOOOO
gboooooogog

00000089 ODoOOO0O0O0OoooOOO0O0 400000000

> fitMeasures(result.testl, c("gfi", "agfi","rmr"))
gfi agfi rmr
0.920 0.719 0.471

goddddooooooooooooon

¥y> 0000000 Minimum Function Test Statistic 00 O OP-value 0 0.1650000000000000000
00000000y’ 0000000000000000000000000000000000000000GFIO
092000 00000000AGFIO 0.719000000ORMSEAD 0.1 00000000000 OO0DOOOO0O 8.10
gooooOoOoooOooouooooogoog

00000000000 0O“Regressions:” O “kitai benkyo” OO0 OOO (P> |z) 0 0911 000000000000
OO0O%itai benkyo” 00 0000000000000 OO0OOOOOOOOOOOOODOODOOO

00000000 Modification Indices: miODO0 00 0000000000000 0OO0O0000O0O0" 0000000
0000000000000 »00000000000000000 29000000 0“benkyo_b ~~ jishin_b ”
gooOooosoe8s000O00oOoOOOODO “benkyo_b ™7 jishin b”O000000COO0OOOOOOOOOOOO
000000O00oOoogno “ benkyo_b” 0O “jishin b’ 0000000000000 O0O0OOODOOOOOOCOOO
goooOoOoOoooooooooo

000000000000 0D00000000000D000D0D0000 “kitai benkyo’ 0000 OODOOOOO
OO modeltest2 0000 O0OOOODOODODOO

000000810 D00D00O0O00O0D0O00 s:0000o00

> model.test2 <- ’

+ benkyo =" benkyo_a + benkyo_b
+ kitai =" kitai_a + kitai_b

+ jishin =" jishin_a + jishin_b
+ jishin ~ benkyo + kitai

+ kitai " 0*benkyo

+

000 “kitai "7 @*benkyo” 000 000D COOU0O0DOOOOOOOOOUOOODDO kitaid benkyoO OO OO
OO00OCOCOOOOOO0OO0OD00lavaan 000 O0O0OO0OOOOO0O0O0O0O0O0OOOOOOOOOOOOOOODOOOOOO
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O0000000000000000lavaan 000000 “kitai "" benkyo’ 0000000000000 OOOO
OO0O0Omodeltestl DO0ODO0O0O0O0OO “kitai ™ benkyo” 00000000 O0O0O0O00ODOOOAOkitai 0 benkyo O
goooooooOoooooooooooo

O0000000semO000000 summary 000 fitMeasures 00000000 CQOOOO

000000811 J00O0Oo0O0O0000ooO0O s 0000ooooooo

> result.test2 <- sem(model.test2,data=test)
> summary(result.test2, standardized=TRUE, fit.measures=TRUE, modindices=TRUE)

lavaan (0.5-14) converged normally after 66 iterations

Number of observations 30
Estimator ML
Minimum Function Test Statistic 9.173
Degrees of freedom 7
P-value (Chi-square) 0.240

Model test baseline model:

Minimum Function Test Statistic 94.929
Degrees of freedom 15
P-value 0.000

Full model versus baseline model:

Comparative Fit Index (CFI) 0.973

Tucker-Lewis Index (TLI) 0.942
Loglikelihood and Information Criteria:

Loglikelihood user model (H®) -378.588

Loglikelihood unrestricted model (H1) -374.001

Number of free parameters 14

Akaike (AIC) 785.176

Bayesian (BIC) 804.793

Sample-size adjusted Bayesian (BIC) 761.203
Root Mean Square Error of Approximation:

RMSEA 0.102

90 Percent Confidence Interval 0.000 0.261

P-value RMSEA <= 0.05 0.288
Standardized Root Mean Square Residual:

SRMR 0.051
Parameter estimates:

Information Expected

Standard Errors Standard

Estimate Std.err Z-value P(>|z]) Std.lv Std.all
Latent variables:

benkyo ="
benkyo_a 1.000 0.969 0.805
benkyo_b 1.216 0.314 3.876 0.000 1.178 0.919
kitai ="
kitai_a 1.000 1.156 0.870
kitai_b 0.794 0.241 3.286 0.001 0.918 0.756
jishin ="
jishin_a 1.000 9.307 0.877
jishin_b 0.899 0.175 5.131 0.000 8.369 0.866
Regressions:
jishin ~
benkyo 5.446 1.713 3.180 0.001 0.567 0.567
kitai 4.672 1.621 2.882 0.004 0.580 0.580
Covariances:
benkyo "~
kitai 0.000 0.000 0.000
Variances:
benkyo_a 0.509 0.240 0.509 0.352

benkyo_b 0.257 0.304 0.257 0.156
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Standardized model (std.all)

085 qgaph00 0000000000

kitai_a 0.429 0.358 0.429 0.243
kitai_b 0.630 0.269 0.630 0.428
jishin_a 26.050 14.017 26.050 0.231
jishin_b 23.461 11.643 23.461 0.251
benkyo 0.940 0.404 1.000 1.000
kitai 1.337 0.558 1.000 1.000
jishin 29.576 16.141 0.341 0.341

Modification Indices:

ooo

> fitMeasures(result.test2, c("gfi", "agfi","rmr"))

gfi agfi rmr
0.919 0.758 0.565

model.testl 00 0 Omodeltest2 00 > 0000000000000000000000000D0O0C0DOOOOO0
OOOAGFIO 071900 0758 000 000O0O0ORMSEAD RMSEA D 0.13300 0.10200000000000O
OO0O0OAICO 787.16400 785.176 00000000 ODAICOOOOOOOOOOOOOOOOOOOODOOOOO
goooooooooooooo81@oooooooooooooooooooDon

0000000000 WebOOO [11]000000000000 lavaan 000000000000 OOOODBOOO
gooCoOoOoOoOoOoOoooOooo AICO00000000oooooooooooooooooooooooooon

833 O0OOOOOOO

ROODODODOOOOOODOOOO0O0O0O0O0OODODOOOO000O00O0O00D0O0 qgraph 000000 semPlot OO
ooooooooood
qeraph 0000000000000 O0DO0OO0O0OO0OO00OODO0OO0

> install.packages("qgraph")
> library(qgraph)
> qgraph(result.test2)

O8S5000pOopopooooo
...... coobooooboocooboooooooo
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benky.

0.88 87

ﬂ‘n_b

086 semPlot 000000000000

OO0OOqgraph 000 OO 0O0OO “This funcion is deprecated, Use the ’semPlot’ package instead. 0 000000000
OO00000DO0C00D0O00D0O0O0O0D semPlot0 000000 O0ODOOCO000000OC0O0DOOOOOOODODOO
OsemPlot 00 0000000000OO0O0O

000000 812 semPlot0000000O0O0

> install.packages("semPlot")
> library(semPlot)
> semPaths(result.test2, "std")

0860000 O0OOOOOO

...... 0000000000000 0000000000000000000*00000000000000000
goooo
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